BOBISEN B SRS & (B304 ) =TRG AHR _
No.| 4| A | B | A&t | XhesE| % & W FUHE
1{30]41}25] 360,000 ' 360,000 | BB IS B (L 245023) IR
2 |30)4]|25 53,136 306,864\ A MiE{E2T BFIH L) s
3130427 3,093| 303,771 {FsER () 48 ' ERIEEAE
4 1304127 3,838 . 299,933 (% A CKH)4H HEHEAR
51305} 7 12,528| 287,405 =y -2k Cv—Turtrva4s A BRHERE
6 301512 9,200  285,205|EEDEMLABODM (EE) | EREAR
7130|5]28 3,093 282,112 |#FHiE Ckm)5H BRI
8 130|5]28 3,838] 278,274 (K8 A& CKH)5 A BRHEAR
9 130|5]30 3,240| 275,034V HU—RR (v /v) B
10{30]6] 4 6,264 268,770/ A—=R (e r—7 7747 2) | ERHERE
1nlso|6|7 1,390] 267,380 [ — g FERHERE
12|30] 617 2,246  265,134|7 17— | BEHERE
13[30]6]18 2,160|  262,974| 7V I —Afk (¥4 /2) | EEHERE
14 {30627 3,838| 259,136 e FHBI (k)6 A R
15|30 | 6|29 3,093 256,043 |FFEHiE Chm) 65 EhlEAZ
16 |30 7] 3 6,264 249,779V -AR (=T 74T VR | RERHERCE |
17130719 20,150 229,629 [FBIZERIA (FEA) IR
1830|7112 2,673 227,066 7H—Nwi) EEHERE |
1930|7124 2,160} 224,896 |7V FY—A K (Fr ) GEHERE
20|30 | 71427 3,838 221,058 A% H#H CkH)7A BRI A2
2130|7129 3,093  217,965|F72H M (KM 7A BEER AR
22130813 6,264] 211,701|ssv=eu—afk(p—TTrAFv2) | EEHERE
231308120 2,160] 200,541 (7 VsV (/) BERM R
24130 8|20 2,160] 207,381 |7V —Af% (T /2) B RHER
25130 8|27 3,838] 203,543 ﬁEEI%ﬁFrﬁl(iCEH)SH B AR
26 130|829 3,003 200,450 |FAHEA (K E) 8 A A
27 130 8|27 2,186 198,264|&ERAT7 A BEHERE |
28 (30|93 6,264 192,000 —af(r—s 774 12) | EEHERR
291309 3 45771 187,423 |Av 2= oy HRHERE
3030|914 2,160] 185,263 7V 2Y—A R (o 1) EEBHER
'31{30] 9|27 3,838|  181,425{#e BB CKM) 97 BRI ARE |
3213019 |27 3,093  178,332|sE7%00 (k@) 98 EEHE AR
& 3 360,000 181,668 178,332 |




BOB TS B B DS CEAL 3047 ) =PRE AR
No.| | A | B | MAGHE | XH&®E) 7% % m =B THFEB
_ 360,000 181,668] 178,332
33130| 0] 3 6,264]  172,068|/ Vs V—2 oy —T 77 A R) | ERMERE
3413010 4 20,150 151,918 [IB{EENRH (H4) IRHRE
35130 10 18 2,623 149,295 A —F | ERHER R
3630|110 4 1,830 147,465 B G AEBESHE S
37130101 24 8741 146,591 | B G BERBRT e
3830|101 24 45,360 101,231 [F@{ZEIRML CRM) IEE
39130 10{25| 360,000 | 461,231 (B iEEhE (T 21-4145) BOBILEE
40 | 30 | 10| 29 3,838] 457,393 |48 H ¥R O 104 | B
41 130|104 31. 3,093 454,300 |FFEHRIR CRH) 10A EEEAE
42|30 10 30 2,160]  452,140| 7V —Y—2 X (Fy /) BRHERR
43130111 5 6,264] 445,876| VTN —AR G —T T 7 A F R EEHERE
44 {30 | 11 14 2,160]  443,716|7 Vs Z—U—2 4% (v V) ERHERE
45130 11|26 4,090 439,626{128 16 ATEHESRBR-REN| IKHE
46130 | 11 ] 27 3,838] 435,788 |8 A HTRAML CRM) 1L EEHE AL
47 130 | 11| 27 3,093] 432,695 |MFEHTRIM () 117 BRIAR
48130 | 12 3 6,264 426,431 V=R oy —T T r A A EEHERE
49 (30| 12 14| 2,160 424,271 7V #—Y—2f% (v /1) HBHER R
50 | 30 | 12 | 27 3,838 420,433[8 A HFER CAE) 12 VB AR
5113012127 3,093  417,340|BEFEHmR CRm) 121 BB A
52130 12 28 400 416,940[128 16 A BB S EE | LHE
153]31]| 1] 4 6,264  410,676] IR (& G T T 7 AF oA REHER A
5431119 18,600  392,076|:@IZENRIF (HEA) It
55 31| 1|21 2,160|  389,916] 7V 2 —U—2 K (¥ 0) ERMER
56 | 31| 1 |28 3,838| 386,078 {48 B #TEIR CKE) 1A EEE AR
57 1 31| 1 |30 3,400| 382,678 |FEAEATRIY CRE) 14 BRI
58131 2| 4 6,264| 376,414 | VT A—AR (v =TT R EEHERE
59|31 2|20 2,160|  374,254| 7V =V —2{ (Fr./2) FORHER S
60 | 31| 2 | 26 5,421| 368,833 > A—Ny ERHER R
61|31 2 |26 3,400 365,433 [FFEHEAA (L) 28 LRI AR
62 | 31| 2 | 27 3,838| 361,595 |#E A BRI CRE) 28 EOBHE AL
63 | 31 4 6,264 355,331V VAR (T T A TR EAHER R
& 7 720,000 364,669 355,331




BBIREE N B EE (ER304EE)

=4 AWE

No.| £ | B| B | IRAGKE | XHE&HE| & # W = FHFE
720,000| 364,669 355,331 |
64 | 313 |11] 21,600 333,731[¥L U s YT YN
65 [31|3 |12 27,000 306,731V HBIF VN AEEIEIN
66 | 313 14 9,959 296,772 7 —F o URIED EEHERE
67 | 31| 3|16 2,160 294,612[F V=V —2 K (F /) BEHER A
6831|326 17,050 277,562 [EEERILE (FA) it
69 | 31| 3|27 3,838| 273,724|f B HRIR CKA)3H BRI
7031|328 3,400\  270,324|wEreHmt Ckm) 3 A BN AR
& 8 720,000| 449,676

270,324




